NCERT EXEMPLAR 400 QUESTIONS / SET -2

Q.21. A person cannot see distinctly objects kept beyond 2 m. This defect can be corrected by using

a lens of power?/ Ueh I fed 2 w#mwﬁﬁﬂwa@ﬁaﬁaﬁwm%l SH Y &l

QITFd o oI T 3TATIT Hlch Sleh TohAT ST ThdT &2 [NCERT Exemplar]

(a)+0.5D

(b)—0.5D

(c)+0.2D

(d)-0.2D

e Because the individual is myopic and in need of a concave mirror, the power would be in the
negative.

o Fifeh ATFT AN § 31X 3rader gUuT i 39T ar §, 2AfFd ThRTcHS & g1aft|
e P=1/f=1/2m=0.5D

22. A student sitting on the last bench can read the letters written on the blackboard but is not able
to read the letters written in his textbook. Which of the following statements is correct?

T S 9 AT Teh BT Selehels T T ITT 73T hl TG Hehell ©, ifeheT 30T ITaq &  ford
ITT TAT Y oot H TeTH o751 § | 1T @d 2 7 A hisT TET &? [NCERT Exemplar]

(a) The near point of his eyes has receded away/mﬁaﬁwﬁw%’gq{s’rw%

(b) The near point of his eyes has come closer to him/ m@rﬁ@’raﬂﬁmﬁgmmmw%
(c) The far point of his eyes has come closer to him/ mﬁa‘f@’raﬂqﬁgmmmw%

(d) The far point of his eyes has receded away/ W@I'MWE&T%QETW%

e |n hypermetropia, the near spot of the eye is moved away for 25 cm. Thus, in order to read
properly, the user needs maintain the books 25 cm apart.

o EEWACIHATH, 3@ & F¥he T T 25 TAT & T G o TR SAT § | 36 TR, S H TGt
o oI, SUATaTehclT T 25 FHT 3TeTaT -37eTaT YETohi i SATT TG hT ITaRTehel & |

23. Which of the following statements is correct regarding the propagation of light of different

colours of white light in air? /WﬁWW?T?ﬁ@HW?WQT?W?Wﬁm@H
#H O FleT GT AT TET §?[NCERT Exemplar]

(a) Red light moves fastest/ STl ST X ol § Tl &

(b) Blue light moves faster than green light/ mmwﬁg&aﬁﬁwﬁﬁﬁaﬁ%

(c) All the colours of the white light move with the same speed/ e JehTl o THT LT Ueh g1 T &
AT Told o

(d) Yellow light moves with the mean speed as that of the red and the violet Iight/mﬂ'l?{cfm
3R areie aTEe & w9 7 Adad fa s T gerdr g

e All of the colours in the white light travel at the same speed as one another.

o TG TehTer H HefY 0T Ueh GEY & &9 3 Teh €1 91T § ITAT I B |

24. The clear sky appears blue because ?

TISE ITRTRT Aol fe@Ts 2ar § Faifh ? [NCERT Exemplar]

(a) Blue light gets absorbed in the atmosphere/ ;hmwara’rgﬁgarﬁmﬁﬁ?rs‘rm%

(b) Ultraviolet radiations are absorbed in the atmosphere/ w@mﬁrﬁﬁo—mmﬁmma’r
ST &
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(c) Violet and blue lights get scattered more than lights of all other colors by the atmosphere/

ageIe 3R Arell AT AYHS S GaRT 3y Ty T3 hr ARreA & 318 foadr g sielr &

(d) Light of all other colors is scattered more than the violet and blue color lights by the atmosphere/

31 G T3t T FehIRT AHS GaRT Tdele mmw&mw#mm@%

e Rayleigh’s scattering of sunlight is responsible for the blue appearance of the clear sky.

e The molecules in the air scatter more blue light from the sun than red light, which means that
blue light is more visible.

e Because air is not a dispersive medium, light of all wavelengths travels at the same speed
through the atmosphere.

o YoIdhr yu T foEsl @ TIse JTehTer i el 3ufFufa & fov SFaAeR 3|

o AT H 3T oITeT Sl ShT Tolell 7 Fof U TRk Aol AT TEd 8, Torerent 3727 § fom el Jrereiy
o RErg gl

o Fifoh g Teh tholld ATell HTETH 61 &, Gl AT S T ARMeH AFHS T oh HATETH § Teh &1
I F AT FIAT B

25. A person needs a lens of power —4.5 D for correction of her vision./Teh STTFcT I 3TaAT T8¢ oh
gwa?ﬁ'ﬂ' -45D Ql%cfa?ﬁ?aﬁ'wmﬁ?ﬁ% What is the nature of the corrective lens?
[NCERT Exemplar]

(a) Convex lens / 39l ol g

(b) Concave lens/ 37adol oI F

(c) Cylindrical lens / SolaTehIT ol

(d) Can not be corrected / 8Teh 5T [ohaT ST ThaT &

e Myopia is a condition in which a pupil is unable to see the chalkboard that is far away from her.
As a result, the doctor recommends a concave lens with a proper focal length.
e Negative sign shows that it is a concave lens.

o AT v Ul R § T vk frsy 3@ wichals &l ST A @AY § S Sed g gl &
sTiToTde, SieFe Ueh 3T Blehel oIdTS o TTY Teh dciol ofF ahT IR T &
o STHRIcHS Hehd T Il ToldT ¢ Toh Tg Teh JadeT oid & |

26. When light rays enter the eye, most of the refraction occurs at the ?/SAd YhIRT
RO 3@ & 93Uu HLar %,Fﬂ' 37T IgdeT EES @FIT %’? [NCERT Exemplar]
(a) Crystalline lens/fohEcelT o d

(b) Outer surface of the cornea/TT=IAT &1 IEL Tdg

(c) Iris/3TBRE

(d) Pupil/‘flfl?ﬁ'

e The cornea is a thin membrane that allows light to pass through to the eye. When light rays
strike the cornea, they are bent inward and converge, resulting in picture creation at the retinal
ganglion cells. As a result, the iris of the eye is where the majority of the refraction happens.

o TIe1AT Ueh Teloll STeell & i ThTRI T 3T & IR T ITTATT ST & | STl Tehrer fehyo
hITI2T I TGN Il &, ol  37e T 3R g ST & 3R 3ifIraor v 8, foraesh aRomeAeasy
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e N T eraret AR 7 = [AATOT 1T 8 | AdoTde, 31 &1 3SR g 1978 & STl
31TeeRTer 3M9ad gt g |

27. Choose the incorrect statement from the following regarding magnetic lines of the field?/&T T
GG TSl & TR A AFATA TS & eIl e e ?

(a) The direction of the magnetic field at a point is taken to be the direction in which the north pole
of a magnetic compass needle points

Teh Toig IR FeehTe &3 Y TR T f&Rm ATl SITeT § fSae Ueh Yoehlar sheraey g 1 3ol ¢ ST
FLATE
(b) Magnetic field lines are closed curves/gdcl?lq &av oil$o:i dcHecdrg

(c) If magnetic field lines are parallel and equidistant, they represent zero-field strength/ﬂﬁﬂaﬁﬁ'ﬂ'
& WU FATATCR 3R FATT 8, ot I Leg-837 e b gfafaftiea axa &

(d) The relative strength of the magnetic field is shown by the degree of closeness of the field

lines/TSehIeT &1 T TTUET QATehcl &1 ATl T Toehecll hr TSl e fe@mar arar g

Due to the fact that parallel lines of magnetism represent a homogenous magnetic field, the third
option (c) is wrong.

$H %Y o hRT o efehed T HATATR IWTT Ueh FHAET deenlY &1 T Ffafaferea el €, drawr
e (&) e gl

ki

Magnetic field lines of a bar magnet Magnetic field lines Magnetic field lines
between unlike poles between like poles
@ (b) (©

Magnetic field lines are imaginary lines used to visualize the magnetic field around a magnet or
current-carrying wire. They indicate the direction and strength of the field. The direction of the field
is tangent to the line at any point, and the density of lines indicates the field's strength.
Key points about magnetic field lines:
e Direction: They point away from the north pole and toward the south pole of a magnet.
e Strength: The closer the lines, the stronger the field.
e Shape: They form closed loops, extending from the north pole to the south pole outside the
magnet and back inside.
e Visualizing: They can be visualized using iron filings, which align themselves along the field lines.
e Uniqueness: They do not cross, meaning the field is unique at any point.
Mathematical Representation: The magnetic field vector is tangent to the field line at any point.

Wmmmi‘@w@?ﬁ%ﬁmﬂmﬂw*mwc@rdm el dR &
IRT 3R b &1 @ aEa & fov famar Srar g1 F & dr feen 3R At @ dha
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g1 &r dr fear ey off fig oX Y@ & T9eiear gl &, 3iR 3@t & aeica &1 T drehd

&I 2T &

deehry &1 (@3l & aR & #Ey g

o fum 3 95w & AU ¢T & ¥ IR Aol ¢a Hr 3R 3T FA E

o ATHd: WU TSl e gial, &1 Icfelr & Halelcd glam|

o IR d ¢ ofF =N &, S Hefeh o ag 3o Y ¥ Sfaiol ¢a deh 3N amod 3ieT
&I 3R ded Bl

o FOUAT FIAL 3¢ olig P SIC BT 3UINT Feh SWT ST Hebell g, ST e Y &1F 3@13i
& a1y WAT WA L

o ffRIEan 3 gR A€ A E Saar 3§ % e fhdr o g w0 srefacha g

o aforcdyr gfafafdes: dodhrr & aeex fondll o foig X &7 t@r & wudsar gl

28. Commercial electric motors do not use?/aﬁmsﬂmmﬁqudl Hﬁ'ch{c\l %:?
[NCERT Exemplar]

(a) an electromagnet to rotate the armature/Wﬁ%ﬁﬁ?ﬁUWéﬁﬁ@ﬁ?ﬁ?

(b) effectively large number of turns of conducting wire in the current-carrying coil/aéﬂ'lﬂ'—ﬁa'lﬁ
oTeY el 31 AR TeTforeT e & T3 &7 & 9 wEar A

(c) a permanent magnet to rotate the armature/&ﬁﬂ?ﬁ%ﬁﬁ?%@@?ﬁﬂw

(d) a soft iron core on which the coil is wound/WWm%WﬁTmWi;ﬂﬁﬂﬁ%
Electromagnets are used in place of permanent magnets in electric motors./ﬁaﬁmﬁ

3T Solfdree Al & TUARN ATAT & TATH I HAT ATAT B |

29. The most important safety method used for protecting home appliances from short-circuiting or

overloading is?/8R 3 30T Sl ATE-Tfehfear AT INTIATSIT & 1T o FoIT ITATeT Y STe gl
He HgcdquT gRaT faferg?

(a) Earthing/372fer

(b) Use of fuse/wwm

(c) Use of stabilizers/TeTelTS oIy T 3UANET

(d) Use of electric meter/Seliergeh He ol 3TITIT

e An electrical fuse is composed of a thin wire of short length that is composed of tin and lead in
the proportion of 75:25 percent. When the current exceeds the specified limit, the fuse melts
and the circuits are broken, thereby protecting home appliances from damage.

o Ueh [degd PG e SIeTS o Ueh Tclel N & ST 81T ¢ il et & =T 81l § 3R 75:25 Fiererd
o 37TUTel H AcJed T & | ST TrATe foifese TaAT @ 37Tk g1 STl &, A Wt feel STt g
3R idhe ge ST &, Toras eRe] 3l ohl oJehdTel & SuTT ST & |

30. Choose the incorrect statement/WWﬂﬁ [NCERT Exemplar]

(a) Fleming’s right-hand rule is a simple rule to know the direction of induced current/FI fH3T FT ETT
g & g IR sie I fg2rm i STietet & fort T W s g
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(b) The right-hand thumb rule is used to find the direction of magnetic fields due to current-carrying

conductors/GTTgel 812 & 33[S o Te1TH T IUAIIT TTATS-of STTeT dTel ehsere] o HRUT ECCERENED
&I feem @ & forw fFar srar g

(c) The difference between the direct and alternating currents is that the direct current always flows

in one direction, whereas the alternating current reverses its direction periodically/QFJ&T}ﬁT
denfeues YRT3T & I T AR T6 § b TcT&T TAAT §HLT Ueh G2 7 T &, STafeh dehfeds
TAATH TAY -FHT I 39T G2 T Fee ST &

(d) In India, the AC changes direction after every 1/50 second/3ARd H AC gY 1/50 Qohs & 91¢ feer
ECTECTIN

Solution: The answer is (d) In India, the AC changes direction after every 1/50 second
In India, the alternating current frequency is 50 Hz. Each cycle, the direction changes twice, so that
the change occurs every 1/00 second.

31. To convert an AC generator into DC generator?/WU?ﬁ'Gio_ﬁEl I ST ST H dolel o TolT?
[NCERT Exemplar]
(a) split-ring type commutator must be used/i?—tﬂi-ﬁﬁwm@ﬂwmm a1fgu

(b) slip rings and brushes must be used/fEerd 3T 31X 5721 1 39T fohaT ST=TT TTfgv
(c) a stronger magnetic field must be used/WWﬂWﬂ?ﬁmTﬁme GBIy

(d) a rectangular wire loop must be used/Wmmaﬂ?{qaﬂm?Tﬁmeﬂli%Q

e After each half-turn of the armature, a split-ring type commutator reverses the direction of the
current flowing through it. This helps to keep the DC current flowing.

o 3R & Ycdeh 3MY-AIS & §E, Teh TECeTe-RaT TehR heg el $He HATETH § Fgel dlel ITHTH
&I feem o Iole AT § | T8 S e F YaTgd IW H FAeg axdr gl

32. A cell, a resistor, a key, and ammeter are arranged as shown in the circuit diagrams of
Figurel2.1. The current recorded in the ammeter will be? /(’EF'QT*I', 1l’EJ\\Icho:Iolloﬂ, Wiwﬁ‘l 3R

THIET T STGTYAT ST AT § =T fob O 12.1 & Tfhe 3@l 7 @A iRm g | vl A gt 1315
TAHTA 8191T? [NCERT Exemplar]

+, /‘\' +, R i +
{ \\J { WWA r—
~K
R +
[ Wi - L®
(1) (i) (iii)
Fig. 12.1

(a) maximum in (i)

(b) maximum in (ii)

(c) maximum in (iii)

(d) the same in all the cases

Because there are no modifications to any of the circuits, the current in all of the circuits will be the
same.

Fifen fordlt oft afdee A IS e 181 &, Tely Tfhe 7 adATH ATH g |
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33. What is the minimum resistance which can be made using five resistors each of 1/5 Q?

AT TR FATE ST Tedeh 1/5 the H & Fedeh H U<l FTRTET T U &leh SATAT ST Hehell

&2 [NCERT Exemplar]

(a)1/5Q

(b) 1/25 Q

(c)1/10Q

(d)250Q

When resistors are connected in series, the resistance is reduced to a minimum.
1/R=5+5+5+4+5+5=250Q

R=1/250Q

34. In the following circuits (Figure 12.2), the heat produced in the resistor or combination of
resistors connected to a 12 V battery will be?

fPrfafed afdhe (foem 12.2) #, 12 & Sl & 53 gfoRTeres 1 ekl & AT & Scarfed e
gI9fT ? [NCERT Exemplar]

20 20 20
WWAA AMA——VA
1
20 3 12V
20
S , |
{ H |
12V 12V . (111)
i
W) (1 Fig. 12.2

(a) same in all the cases
(b) minimum in case (i)
(c) maximum in case(ii)
(d) maximum in case(iii)

e |nthis example, two transistors are connected in series. Because they are connected in parallel,
the total resistance in figure (iii) will be less than the sum of the individual resistances.
Consequently, higher resistance generates more heat, making option c) the correct choice.

o  SU 3CTEXUTH, &1 IfSTeeY 4[@ell # S[$ §UE | FIh & FAAR H SIS E, = (1) H per
gfarer eafedera afae & JeT & F57 g | AcioTdd, 3T 9iarer 31f8e ITHT 3ceet Har

g, faed o) T Aoyl

35. A student carries out an experiment and plots the V-I graph of three samples of nichrome wire
with resistances R1, R2 and R3 respectively (Figure.12.5). Which of the following is true?

Teh BT Ueh AT HIAT § AR HALM: R1, R2 3R R3 & A1 Ash1A arX & ofiet =1 o V-1 I &t

e (AT .12.5) F AT W@ ¢ | afaf@a A asla aragrg?
[NCERT Exemplar]

I
(ampere)

V (volts)
Fig. 12.5
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(a) R1=R2=R3
(b) R1>R2>R3
(c)R3>R2>R1
(d)R2>R3>R1
e Resistance is inversely proportional to the amount of current flowing through it. Because the
highest resistance will result in the least amount of current flow, the correct answer is c).

o TCRIY S8 ATCIH G TaTg 1 AT o Ao ATequricies § | F3iifeh Seaas gierir s
IROUMATART i T T TAHTT TATg ! AT g1, TET S ATg) |

36. Which of the following represents voltage?

fAraAfaf@a & @ Fla areest s ufafaftica aar g2 [NCERT Exemplar]
(a)Work done/ (Current x Time)

(b) Work done x Charge

(c) (Workdone x Time)/Current

(d) Work done x Charge x Time

Electric potential is the work done per unit charge.

e Electric Potential=Charge Work Done

e Again, Charge= Current x Time

e Therefore, Electric Potential= Current x Time Work Done

e Voltage is also referred to as the Electric Potential in some circles. Therefore, option (A) is the
most appropriate choice.

37. The resistivity does not change if ?/ITARIEThdT o181 dGolcl Ife, [NCERT Exemplar]
(a) the material is changed/an?fI'EI'c'\FlHT%'

(b) the temperature is changed/m?fw%'

(c) the shape of the resistor is changed/ ITARTET AT 3T d&of SITcT &

(d) both material and temperature are changed/gl=ir Tery 3R dvAT seT S 8

e We will be re-arranging the terms we will receive, =A/RI

e As aresult, the resistivity of the material will be determined by its area and length.

e Due to the fact that there is no shape factor involved in the formula derived, this demonstrates
The resistivity of the material is not affected by the shape of the resistor in question. The ohm-
meter(m) is the Sl unit for this measurement.

e “The resistor’s physical shape has been altered.”

o TET HT YIRS 38 &7 3R ofa1s ganT iR & suah|
o SHTALY & HROT foh SFcToet FA H IS TR ek ATTAT 61 &, g GATT & Tob AT T
GfARrershdT 92 & UshaldTell o 3ThR F TeT1fad =T8T 8l § 1 3NH-He (TH) s AT & fow

THIS SHS 5|
o '"FfAAE & Hifaw PR F ST eI =T R

38. If the current | through a resistor is increased by 100% (assume that temperature remains
unchanged), the increase in power dissipated will be? /3f& Teh 37a0eTh & ATEIH A & AT &7
100% §¢ ST & (ATl of foh arATe 3raRafdd W@ g), o faeriee fosTel 7 gefer grefr? [NCERT
Exemplar]

(a) 100 %

(b) 200 %
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(c) 300 %
(d) 400 %

The amount of heat generated by a resistor is proportional to the square of the current flowing
through it. As a result, when the current is doubled, the dissipation of heat will multiply by 2 =4, and
so on. This equates to a 300 percent increase in the amount of money available.

39. In an electrical circuit, two resistors of 2 Q and 4 Q respectively are connected in seriestoa 6 V
battery. The heat dissipated by the 4 Q resistor in 5 s will be?

T faegd Aithe &, HAW: 2 QAR 4 0 F A ARIT JGATH 6 VAT A ST & 40T 50HA
CeaR faer grarT faafed 3sAT gief? [NCERT Exemplar]

(a)5)

(b) 10

(c)201)

(d)301J

e Equivalent resistance of the circuit is R = 4+2 = 6Q

e current, I=V/R= 6/6=1A

e the heat dissipated by 4-ohm resistor is, H = 2Rt = 20J

40. when zinc granules are treated with a dilute solution of H25S04, HCIl, HNO3, and NaCl, In Which of
the following the chemical equations reaction will not take place?

ST STET HTOTRIAT @l H2504, HCL, HNO3, 31 NaCl & Icell THATYT & AT SolTof TohdT ST g, ar

fArafaf@a & @ fora Tarafas arrston fr afafsar 7€t g1ef? [NCERT Exemplar]
a) Zn(s)+ H2S04(aq)>
b) Zn(s)+ 2HCl(aq) >
c) Zn(s)+10 HNO3(aq) >
d) Zn(s)+ NaCl(ag)>
Solution:
e Displacement reaction occurs when zinc granules react with concentrated H2S04, resulting in
the formation of ZnSO4 and the release of hydrogen gas.
o Zn(s)+ H2SO4(aq)—> ZnSo4 (aq)+H2 (g)
e When zinc granules react with concentrated HCl, a displacement reaction occurs, resulting in the
formation of ZnClI2 and the release of H2 gas.
o Zn(s)+ H2Cl(ag) =ZnCI2 (aq)+H2 (g)
e When zinc granules react with dilute HNO3, zinc nitrate is formed, which then reacts with water
to produce H20 and nitrous oxide.
o 4Zn(s)+10 HNO3(aq) 4Zn(N0O3)2(aq) +5H20(i)+N20 (g)
e There will be no reaction between zinc granules and sodium chloride when they are combined.
e When zinc granules react with NaOH solution, a chemical reaction occurs.
o Zn(s)+ NaOH(aq)-> Na2Zn02 (aq)+H2 (g)




